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N1177 29 and s 29 were sitting before 7929 '

OVERVIEW

Our X731 relates an incident where X177 27 and priX® 27 were students by "
717, In this episode 717 " called them °p777 (children); indicating that
they were younger than 7177 7. Our nN1©01N resolves a discrepancy in this
matter

— 07N Y92 ONU 92911Y NN 29 AT PRT 0N 1)%29 9N
The n''= says that this X137 27 mentioned here is not the 81177 39 who is

mentioned generally in the entire '@ -
— PNRP 5 NN KDY D199 53919 NN D7) NN IMNY

For that (ono) X117 27 was much older than 575%9° '3 and X217 27 would not

have been sitting before 727 '3 (as a student before a teacher) -
— 9991 )OPIY NI *2H YWY 19%an N9 YA Mrakhi )/ MPT 1IN

And in addition (we know that this is not ano X177 27) because 7°27° "
called 1177 27 and pri¥® 27 ‘children’ (°p797), but this cannot be for 1529 '3

was a younger colleague of X7°7 ' -
— 15595 N99% 5399 19139 Y29 7939 Sy (9 97 D732 9NT2

As the X773 states in 57731 D073 “719»9° ' inquired from X297 '3, ete. The x»a
relates there, that it was -

— 2R3 KDY TIN%) 2195 NT9T 5295 191997 %29 IN*aN IND 1Y
To such an extent that ;71529 '3 tried to make X9°r '3 laugh, but X9°1 ' did

not laugh. moon continues with his proof -
— A7 29 HY 119N X1 %A

And X9 ' was the student of 777 29 -
— INIYI YINY POMNY 5931 DIV NN 29 VIPNYNI MINT “1999INTS

" The query was, what is the ruling in a case where a woman is pregnant with a fetus which is a cow, and
the father of the fetus accepted 117 from a person on behalf of his daughter (the cow fetus). The issue is
whether the w7pn can marry the sister of this fetus, since 1NWX NN is forbidden.

% 7m7 ' asked such an unusual question that would normally arouse mirth; however X7t ' did not respond
in kind.

? The fact that 7°»7> "1 attempted to make X1 ' laugh indicates that they were colleagues (for a student
would never attempt to do this to his *27); however since he posed a query by X7°1 ", this indicates that "
M7’ was junior to X717 .

4 X,Xn naw. The Xm3 there relates that 777 27 (who lived in 923) taught that whoever leaves 922
transgresses an 7wy (for there is a P09 [in 23,75 7] which states 1°7° 72w W2 7922).
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As the X na states that X7°7 'Y avoided 777370 29 because X171 'Y wanted to
go up to "X -
— N3N 29999 7598 750 AN 29 YW 139 DAY YN

And ®X»w who was the 93 of 7773710 21 depended on X377 21 -
— 75515 03 INANY 72 NN 290 YNINY N3 Nya (x,m 97 )2P9°9 V2 9INRTI

As the X3 states in the beginning of this p5, that 2w asked X117 29
regarding two people who brought a wa, etc. -

9919 DIYWTPA POYNNY 1993 KINN 29 INIIY 1999 KA (v, g7 NP 799 PIND)
And also in the first P25 of 3917 the X3 related that YXww inquired from

X197 29, from where do we derive if one is 2°527P2 pPoYNn, ete.? It is therefore
obvious that X137 27 was much older than 7" . It will be therefore necessary to say
that here we are discussing a different ¥117 27 than the usual X177 27 ano.

SUMMARY
[ano] &1 27 (1) taught SR (2), who taught 7777° 29 (3), who taught 877 '
(4), who taught 727 ' (5) (who taught this 81177 27 [6]).

THINKING IT OVER

mooIn resolves the inconsistency by alleging that there were two X117 27.
Why could not moo1n answer that there were two 77 21 (one who was
younger than 81777 27 and another who was older than 81177 27)?!"

> The fact that X1 ' felt uncomfortable in the presence of 777 27 indicates that X711 "1 was his student, and
felt uncomfortable that he is disobeying his 27

% We find numerous statement of HXmw %K AT 27 in 0"w.

" The question was if there were two o’m>w from 2% n*7» are they required to say 1"521 2031 *192.

¥ p>w7pa poynn means he slaughtered a 1277 (in the 771v) but he had no intent of doing so. The question was
from where do we derive that such a v nw is 72109.

? See PRI "7 R,XN PWITP MOOMN.

10 See 7™w o',
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